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Is there a way to use debugger on a specific JUnit testcase? 
I tried to put breakpoints on the case, 
but when I run debugger it just runs a different case. 



I understand the code of each Short-Circuit Evaluation 
ex. (one using conjunction, the other disjunction) gives equivalent outputs but 
with different behaviour. 
However, I don’t think I can adequately and concisely put into words my 
justification why I think so. 
I can only think of following each program with specific ex. cases 
(1. When x = 0, 2. when y/x > 2 and 3. when y/x <= 2) but I wonder if there’s a 
better way. 

↳ guard expressions.



Short-Circuit Evaluation: && Test Inputs:
x = 0, y = 10
x = 5, y = 10
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Test Inputs:
  x = 20

Test Inputs:
  x = 20

Common Errors: Ambiguous “else”
My question is, why is there an ambiguity? 
First if has no {} so the first line is the only one belonging to it 
and else cannot be a nested conditional inside the first if?
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